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Run 5465 quartetwise, Asyms0 (Raw): All

quartetwize_asymi

Enlries
Mean
Sid Daw 1

382347
-1.8089
215a+05

«10°

—40

-30

—20

-10

0

10 20 30 40 50
gHelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.544788)

Run 5465 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 5465 quartetwise, Asyms0 (Raw): Beam OFF
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Run 5465 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 5465 quartetwise, Diffs0: All Run 5465 quartetwise, Diffs0: Beam OFF
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Run 5465 quartetwise, NegHelAccO/NSamplesQ: All
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Run 5465 quartetwise, NegHelAcc0/NSamplesQ: Beam OFF
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Run 5465 quartetwise, NegHselAccl/NSamples0: Beam ON, Laser OFF

1]

quanstwisa baami_lasld nagHD

Entries 512
Mean 0.2049
Std Dev  0.07565

0.3

i
0.4

MNegHelAccl/MegHel NSémplesn




16000

14000

12000

10000

BO0OO

G000

4000

2000

140

120

100

B0

60

40

20

Run 5465 quartetwise, PosHelAccO/NSamplesC: All
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Run 5465 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON
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Run 5465 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 5465 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF
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Run 5465 quartetwise, Sums0: All
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Run 5465 quartetwise, Sums0: Beam ON, Laser ON
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Run 5465 quartetwise, Sums0: Beam OFF
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Run 5465 quartetwise, Sums0: Beam ON, Laser OFF
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